71In an experiment on 90° V notch, the flow Is collected in a 0.90 m diameter vertical
cylindrical tank . It is found that the depth of water increases by 0.685 m in 16.8 seconds
when the head over the notch is 0.2 m. Determine the coefficient of discharge. If the error
In observation of head over the notch is Imm ,what will be the error in discharge? \q?/
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The head of water over an orifice of diameter 7.5 cm is 7.5 m. The jet of water coming

out from the orifice is collected in a tank having cross-sectional areaof 1 mx 1 m. The

rise of water level in thistank 1s 0.87 m in 25 seconds. The coordinates of a point on the

jet measured from venacontracta are 3.75 m horizontal and 0.5 m vertical. Find the co-

efficient of discharge, co-efficient of velocity and coefficient of contraction.
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